Solution to Puzzle #104 — January, 2010 "Jumble"

In the grid above the symbol 7 replaces the letter sequence PI
(in parentheses in the list below) in all the words in which it occurs.
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Across

VPN N RN =

HOS(PI)CE
ARABIAN
BAER
SAVANT
SANS
ASTIR
S(PIT
LOO

HEEL

. S(PI)NAL

. ABET

. TA(PDR

. DUEL

. EMBRACE

. ENTER

. WOOFER

. (PT)CKET

. EX(PD)ATE
. CHAFE

. DECRE(PI)T
. (PI)TON

. GRAB

. SNIPER

. DE(PI)LATE

Down

WPNAN RN =

HAT(PH)N
DE(PI)CTION
STAUNCH
(PT)PS
BALLET
KATE
(PT)ANO
ALEE
FORCE

. SOBER

. TENDER
. AHEM

. WEDGE

. ASSET

. BOXER

. (PDRATE
. TRO(PT)CAL
. AVILA

. AFAR

. BABAR

. S(PT)CE

. TEST

. INS(P)RE
. RE(PI)NE

Kevin Wald solved the puzzle in 45 minutes.



